
Math 314: Demo Homework August 28, 2017 Your name here.

Exercise 1.1: Describe all vectors w = (w1,w2) that are perpendicular to v = (2,−1).

Solution:
The vectors are perpendicular if v · w = 0. That is, we require

2w1 − w2 = 0

or equivalently, w2 = 2w1. Hence

w =
[

a
2a

]
where a is a real number.

Exercise 1.2: Use Octave to plot sin(x) and cos(x) for −π ≤ x ≤ π on the same graph.
Make sure the graph is labeled nicely.

Solution:

octave:1> x=[-pi:0.01:pi];

octave:2> plot(x,sin(x),x,cos(x));

octave:3> set(gca, "fontsize", 14 )

octave:4> xlabel("x");ylabel("y");title("sin and cos");

octave:5> legend("sin","cos");
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